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Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 1: The students were up in arms when they heard that their breaktime would be taken away due to poor behaviour.
	A. strong	B. calm	C. angry	D. happy
Question 2: We need to ensure that handwriting is properly taught in our primary schools. 
	A. easily 	B. exactly	C. actually	D. incorrectly

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 3: Mary and Tom are talking about the weather.
– Mary: “Isn’t it going to rain tonight?” 
– Tom: “………………...”
	A. Yes, it isn’t.	B. I don’t hope so.	C. No, it is.	D. I hope not.
Question 4: Peter and Mary are friends. Peter invited Mary to have lunch in a restaurant.
– Mary: “Thank you very much for your delicious lunch.”
– Peter: “…………………...”
	A. That’s not good.	B. It is not my turn.
	C. I don’t think so.	D. Not at all.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
	Artificial intelligence (AI) refers to the simulation of human intelligence in machines. These machines are programmed to think like humans and mimic their actions. The term may also be applied to any machine that exhibits traits associated with a human mind such as learning and problem-solving.
The ideal characteristic of artificial intelligence is its ability to rationalize and take actions that have the best chance of achieving a specific goal. A subset of artificial intelligence is machine learning. This means that computer programs can automatically learn from and adapt to new data without being assisted by humans. Deep learning techniques enable this automatic learning through the absorption of huge amounts of unstructured data such as text, images, or video.
Machine learning is the concept that a computer program can learn and adapt to new data without human intervention. 
(Adapted from https://www.investopedia.com)
Question 5: What could be the best title for the passage?
	A. The Way Artificial Intelligence Learns.	B. The History of Artificial Intelligence.
	C. The Definition of Artificial Intelligence.	D. The Way Artificial Intelligence Works.  
Question 6: The word mimic in paragraph 1 is closest in meaning to ………….
	A. learn	B. imitate	C. solve	D. exhibit
Question 7: The word its in paragraph 2 refers to ………
	A. of the ideal characteristics	B. of the computer program
	C. of the best chance	D. of Artificial Intelligence
Question 8: According to the passage, which of the following is NOT true about Artificial Intelligence?  
	A. It can solve problems.	B. It can mimic human actions.
	C. It can learn from new data.	D. It can associate with humans.
Question 9: According to the passage, the Artificial Intelligence can do all of the following EXCEPT …...
	A. play	B. think	C. adapt	D. learn
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 10: You should not wear casual clothes when going to an interview because they can create a negative impression.
	A. beautiful	B. formal	C. informal	D. nice
Question 11: He finds it very hard to do his new job because of his inexperience.
	A. difficult	B. easy	C. simple	D. interesting

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
	It is obvious that we are destroying our planet. A steadily rising population is placing ever-higher demands on Earth's resources and is wiping out the wilderness and the ecological balance of the planet, something on which we all depend. A steadily rising use of fossil fuels for energy is choking Earth's atmosphere with gases that are slowly poisoning it. In addition, it allows the atmosphere to conserve heat more efficiently, so that the planet is experiencing a greenhouse effect that may have catastrophic impact. A steadily increasing production of chemical substances that are highly toxic is poisoning the soil and water of the Earth, is destroying the ozone layer and is converting much of the planetary surface into a garbage heap.
Since there can be nothing on Earth, simply nothing, that is more important than saving the planet, our priorities must be to reverse these destructive tendencies. We must find alternative sources of energy, long-lasting and non-polluting. We must continue the search for nuclear fusion, in the hope that it will be a far richer and safer source than nuclear fission. We must develop wind-power, wave-power and, most of all, the direct use of solar power. All these things are highly practical, but cost more money than oil and coal, so that the challenge is to make them cheaper. We must find ways of detoxifying toxic products produced by industrial plants. We must find substitutes for packaging, substitutes that are recyclable. We must find substitutes for chemicals that destroy the ozone layer. We must find methods of saving our forests, of saving threatened species, of maintaining a healthy ecological balance on Earth.
(Adapted from https://www.eslprintables.com)
Question 12: What is the passage mainly about?
	A. Water and atmosphere pollution and solutions		B. Earth’s environment destruction and solutions
	C. Destruction of ozone layer and consequences		D. Alternative sources of energy and fossil fuels
Question 13: The word it in paragraph 1 refers to…………..
	A. atmosphere	B. use	C. energy	D. balance
Question 14: According to paragraph 1, a steady increase in use of fossil fuels for energy………..
	A. pollutes the Earth’s atmosphere				B. affects the ecological balance of the earth
	C. wipes out all the wilderness of our planet		D. places higher demands on Earth's resources
Question 15: The word catastrophic in paragraph 1 is closest in meaning to……
	A. beneficial	B. noticeable	C. disastrous	D. inconsiderable
Question 16: The word challenge in paragraph 2 is closest in meaning to……
	A. importance	B. difficulty	C. simplicity	D. solution
Question 17: Which of the following is NOT true according to the passage?
	A. A steady increase in the use of fossil fuels for energy is choking the Earth's atmosphere with gases.
	B. The wilderness and the ecological balance of the Earth is being negatively affected by overpopulation.
	C. Greater production of chemical substances is having destructive effects on the ozone layer.
	D. Wind-power, wave-power, and solar power are much cheaper and more practical than oil and coal.
Question 18: Which of the following can be inferred from the passage? 
	A. Nuclear fusion is currently not being carried out although nuclear fission may be still dangerous.
	B. The ecological balance on Earth will be impossible to be maintained due to the level of deforestation.
	C. The ozone layer will be no longer destroyed although more greenhouse gases are released into the atmosphere.
	D. Solar power is likely to be more feasible and practical source of energy than water power.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 19: Peter went abroad for a summer holiday. He regrets it now. 
	A. Peter regrets not having gone abroad for a summer holiday.
	B. Peter wishes he hadn’t gone abroad for a summer holiday. 
	C. If Peter went abroad for a summer holiday, he would regret it. 
	D. If only Peter had gone abroad for a summer holiday. 
Question 20: They finished one project. They started working on the next. 
	A. Only if they had finished one project did they start working on the next. 
	B. Hardly had they finished one project when they started working on the next. 
	C. Not until they started working on the next project did they finish the previous one. 
	D. Had they finished one project, they would have started working on the next. 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 21: Students need to invest the maximum amount of time, money, and energy in their studies so as to ……………. their goals in university.
	A. catch	B. manage	C. succeed	D. achieve
Question 22: Mary bought her first cell phone ……………. July 7th, 2017.
	A. in	B. from	C. on	D. at
Question 23: ……………. Lan Anh didn’t feel well, she still went to school yesterday.
	A. Despite	B. Although	C. Because	D. Because of
Question 24: …………….English for several years, she can easily communicate with foreigners.
	A. Have been learned	B. Have been learning
	C. Have learned	D. Having learned
Question 25: That play is very boring, …………….?
	A. does it	B. isn’t it	C. wasn’t it	D. was it
Question 26: The very bad weather ruled out any possibility of our plane…………….before midday.
	A. getting off	B. giving off	C. making off	D. taking off
Question 27: They are  …………….a survey to find out what their customers think of their local bus service.
	A. converting	B. conducting	C. conflicting	D. confining
Question 28: The larger the room is, ……………. comfortable it becomes.
	A. the more	B. most	C. the most 	D. more
Question 29: Smartphones and laptops are ……………. in schools and universities for teaching and learning purposes.
	A. popular	B. popularity	C. popularize	D. popularly
Question 30: I will give you a phone call ……………. this weekend.
	A. when I was paying you a visit	B. after I had paid you a visit
	C. before I pay you a visit	D. as soon as I paid you a visit
Question 31: That tree ……………. here two weeks ago.
	A. has planted 	B. was planted	C. plants	D. was planting
Question 32: John ……………. a report when his pen broke yesterday afternoon.
	A. was writing	B. is writing	C. has written	D. writes
Question 33: The main purpose of this entrance examination is bound to sort out the sheep from the ……….
	A. dogs	B. lambs	C. goats	D. pigs
Question 34: The woman who is driving a(n)…………….car is my daughter’s boss.
	A. Chinese expensive red	B. red Chinese expensive
	C. expensive red Chinese	D. expensive Chinese red
Question 35: The 94th Academy…………….ceremony was held at the Dolby Theatre in Los Angeles in March 2022.
	A. Prizes	B. Gifts	C. Awards	D. Bonuses

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 36: Passengers are not allowed to walk on the line.
	A. Passengers should walk on the line.			B. Passengers needn’t walk on the line.
	C. Passengers mustn’t walk on the line.			D. Passengers may walk on the line.
Question 37: Peter started learning to play the piano two months ago.
	A. Peter stopped learning to play the piano two months ago.
	B. Peter has learned to play the piano for two months. 
	C. Peter is learning to play the piano at the moment. 
	D. Peter has never learned to play the piano. 
Question 38: "I’ll take the children to the park tonight, " said the husband to his wife. 
	A. The husband told his wife that he would take the children to the park that night.
	B. The husband told his wife that he would take the children to the park tonight.
	C. The husband told his wife that I will take the children to the park that night. 
	D. The husband told his wife that I would take the children to the park tonight.

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 
Question 39: 	A. pan			B. hate			C. map			D. hat
Question 40: 	A. picked  		B. washed		C. blamed		D. kissed

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 41: 	A. marvelous		B. confident		C. excellent		D. important
Question 42: 	A. machine		B. market		C. movement		D. music

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 43: In the UK, there are many opportunities for students to continue his education after
                                                                           A                                       B        C
finishing secondary school.
      D
Question 44: My mother goes shopping with her old friends yesterday evening.
                                           A                      B                   C                            D
Question 45: They can select engineering, technical, business or serving skills to prepare themselves
                                                         A                                                 B                        C
for their work environment.
 D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
	When you're young, it's easy to take your body and your health for granted. __( 46 )__, as you age, the importance of maintaining good health becomes more apparent. When you keep your body working well, you enjoy greater energy and __( 47 )__ aches and pains.
	To understand the importance of maintaining good health, it's helpful to appreciate the various things that contribute to a healthy lifestyle. These include nutrition, physical __( 48 )__, sleep and stress management. When these parts of your lifestyle are out of balance, your health often pays the price.
	A healthy diet __( 49 )__ includes adequate vitamins, minerals, dietary fiber, protein, carbs and healthy fats allows your body to work well. Regular exercise strengthens your bones, muscles, lungs and cardiovascular system.
	Seven to eight hours of __( 50 )__ sleep each night allows your body to repair cells and perform other maintenance activities. Stress management is another key part of the importance of a healthy lifestyle.
                                                                          (Adapted from https://www.livestrong.com)

Question 46: A. However		B. Because		C. Therefore		D. Although
Question 47: A. least			B. fewer		C. most		D. less
Question 48: A. activity		B. action		C. interaction		D. reaction
Question 49: A. whose		B. who			C. what		D. that
Question 50: A. equality		B. qualification	C. quality		D. quantity


THE END
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